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p. 14 
end of last paragraph


(i.e. rise in T-bill prices).

p. 116 
2nd paragraph

… using the (delete ‘basic’) naïve ratio is …

p. 116 
4th paragraph

… not have invested at ro = 10% since …

p. 119 
before equation [5.24]

The duration based hedge ratio (assuming …

p. 122
Line 2 

…ends in August (see figure 5.4).

p. 122
Line 4

… futures prices are given in table 5.5
p. 140
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 = 0.1372 (not 0.1378)

p. 141 
above eguation [A5.21a]

t2 –t1 = 90
t3 –t2 = 90

p. 206

‘Case B’ and ‘Case A’ and ‘Cud node’ should have ‘Suu’ (not S)

p. 206
last paragraph

   …Cu node with hu = 0.9545 (case B) 

p. 223 
last paragraph

This should read :


It can be shown that N(d2) = 0.729 is the probability that the call option will be in-the-money at expiry.  Here the probability is about 73% ….  The option …

p. 243 
End of 1st paragraph


… change in value of the hedged portfolio is 
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 which implies a cost equal to the risk free rate of interest 
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 (over the period, 
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p. 288 
Line 3

still has 210 days to maturity

p. 430
Equation [16.15]
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p. 542 
Below equation [19.21]
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p. 543
Equation [19.25]


NPV* = 
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(i.e. delete ‘£45’)
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